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TOPIC: One way to solve the problem of congestion on the roads is to increase the
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Your teacher can send you the complete material.

Please ask them to send the complete version of this material before the lesson.
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One way to eliminate the issue of crowding on the roads is to increase the tax on the
private vehicles. Extending tax will have an adverse effect on the middle-class people
because they have brought their personal cars with many hurdles and if the tax is increased,
they cannot bear tax imposed by the government.

Apart from this, the tax amount could be used by the authority to built more roads, improve
pavements and parking facilities and thus the traffic jams on roads will be reduced.

However, this will not deter the rich people to use their private cars on the roads.

Hence, congestion problem can be comfortably solved if appropriate precautions are taken
and the government has to take their responsibility for controlling the redundant traffic by
constructing roads and installing the modern traffic lights. Above all the public should also
take the road signs seriously and follow it.
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